Math 1010, Exam #2, Fall| 2013 Name K E \(

Instructions: Show all w

rk. You may round to two decimal places (pennies) unless the problem asks

you for a different numbe[r of places.

1. The list price of a

minus 20%. Find

w?g<

2. Find the net price

B

refrigerator is $750. The retailer can buy the refrigerator at the list price
the trade discount. (5 points) |

D4 .9 = H|SO

is a discount series of 25/15/5 is deducted from $120. (8 points)
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3. Aninvoice for $500 dated December 8 has sales terms of 2/10 ROG. The merchandise arrived

December 13", a)

If the bill is paid by December 20", what is the amount due? b) If the bill is

instead paid on January 5%, what is the amount due? (6 points) |
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4, Explain what the following abbreviations mean. (3 points each)
a. EOM (on an invoice)
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b. FOB (on a bill of lading)
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5. Sakara receives a bill dated October 1 with sales terms of 3/10, 1/15, n/30. Explain what these
terms mean. (4 points)
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6. A calculator sells for $109.99 and costs the retailer $65.99. Wh;’at is the markup? What is the
markup rate? (5 points)
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7. Aboxof printer prer costs $19.70. Find the selling price if there is a 36% markup on cost. (5 points)

Q.%o ® B = T.09

(QTo+F-04 =
‘2641
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8. What is the rate of markdown if a car normally lists for $15,000iis being sold for $12,375?
Round to one decimal place after converting to a percent. (5 peints)

[Sioo0 — 12,57S = 22

228 . | |3s 1F.§% mande douon s

IS, 000

9. Explain how markup based on cost is different than markup bas)’ed on selling price. {5 points)
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10. Will the series of markdowns 25% and 35% be more or less than the single markdown of 60%? o
Explain. {5 pomts)
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11. For the data in th% table below, convert the frequency data intq relative frequency values and

then sketch the reilative frequency histogram. (8 points)

Class Frequency Relative

Frequency
40-44 8 l 22 .' %
45-49 12 ’q .g%
50-54 23 3_7-'7%
55-59 15 2—4. b%
60-64 ﬂ 3 Lf,q%
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12, For the data below, find the mean, median and mode. (9 points)

41,67,76,78,82, 82,‘93, 94,97,105,114,138
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13. Find the range of

the data set in problem #12. It’s possible to estimate the value of the
standard deviatio

n by dividing the range by 4. What is that estifmate? (8 points)

ronsge = 12841 =%
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14. Sherri works 44 hours in a week for an hourly wage of $11.15/hr with overtime paid at time-
and-a-half. How much did she earn that week?(5 points)

Jo % 111§ = 44
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15. Elliot is paid a the following differential piece rate: 1-100: $2.58; 101-250: $2.72; 251+: $3.15.
Find his gross earnings if he completes 585 pieces. (8 points)
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16. Michael’s gross earnings are $776.00. The Medicare tax rate is 1.45% and the Social Security
rate is 6.2%. Find the withholding amounts from both. (6 points)

meLdacare T % 0.04C = 2T
W, 446 ¥ O©0.062 = &I\

17. If Toby earns $1500 semimonthly, and is single with three deductions, use the attached table to
calculate federal withholding each pay period. (5 points)

3 ||l.00

18. Use the percentage method and the second attached table to calculate Toby’s withholding for
the same conditions. The table for withholding allowances is shown below. (6 points)

(1S 2.08) = 48k 24
|Soo — 45624 2 (04336

o4 Fo - 434 2 601 He

Payroll Period - Per lg Yo + bo9.76%0.\S <
withholding w

Allowance

Weekly $70.19 ‘ 810 o+ q |. o = \OQ.b(o

Biweekly $140.38 .

Semimonthly $152.08

Monthly $304.17

Quarterly $912.50

Semi-annually $1825.00

Annually $3650.00

Daily $14.04
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FIGURE 2

Portion of IRS Withholding Table for Sngle Persons Pald Semimonthly;
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Tables for Percentage Method of Withholdlng

(For Wages Paid In 2010)

TABLE 1— WEEKLY Payroll Peritbd

(@) SINGLE person (inciuding head of househoid) ~
I this amount of wages {aftor

gubiructing withholding alipwances)  The amount of income fax

| (b} MARRIED pergson —:

| if the amounto&wd;es (after
i sublracling withholding

The amount of incomoe

[ 16 withiald is | allowarces) is: i fax ko withhokf ig;
Notover $116 Eah i Eee 50 i Notover $264 ..., ... .. . &0
Over - Bul mul QVEY of excess aver — | Ovar — Butinot over — of excess ovar —
AN — §200 0% — 4116 ! 264 — 5471 10% -~ §264
200 - GBIE . BAD plus 157 w200 | $471 ~§1 467 i 0.70 pluyg 15% o §ATY
faliN] - 51502 $8:2.36 plus 26% 4699 | 41,467 - §1.804 168,60 plus 25% w 1,457
a0 —‘-51 (G4 BE B plus 27 - §1,902 | §1.809 — 2386 425660 plus 27% -~ $1,809
1,674 e 521,64 pius 30% - §1,824 | 2.6 §2.789 H 1239 plug 25% w $2.986
51,687 o 34044 pluy 28% - §1,687 | $2.769 4,173 $5130.14 plus 26% -~ §2,785
§3 344 12 ABEO4.A0 plus 3% — 3,044 4,178 — §7.305 $900.66 plus 33% — 54,173
g 52 0B63 plm. 5% - 57,226 | oy s 5184417 plus 35% —§7.535
TABLE 2 - BIWEEKLY Payroﬂ Petiod
|
{#) SINGLE parson (including head of housahold) — | (by MARRIED pigggon —
11 the amaount of Wh“ﬁ (P 1l o armount of wages (aﬂer
sublracting withhol The Brount o1 Inemms tax | subtracling wnhholdH The amaount of incoma
allowancs) 18! o withiyold is: I nliowances) 4 tax {o withhold Is:
Notowar$233 ..., .00 .30 | Notover $529 ... ... f 50
O - But not over - of cxoess over — | Qver - Bul not over « of ex0eRs over —
o= Bt 10% - §a83 529 o $8042 10% - §529
$1 ki B16,80 plus 15% $401 | $942 o 913 L $41.80 plus 16% $942
! i S164.70 plus 25% —$1.967 §2,913 - $3 517 . $336.85 plus 25% —$2,913
2, . §AGE DS o 52,104 $3,017 o G770 L $512.65 plus 27% -~ $9,617
B 56 $4.771 - $5‘b79 . §824.63 plug 26% — 771
:LE] s ...l': h.u.il FEH0.A plus PE%% £ $5,579 — §8,346 . $1,026.53 plus 26% - 6,579
5, b“{iti ~ a8 L. 516006 plus 33% T $4.346 ~ 414,808 . $1,801.20 plus 35% ~ 8,946
Fla.450 . . — $4168.98 plus 5% - s.l & AR | $14,669 . Sﬁ.‘?,&ﬂ? 1B plus 35% — §14,660
TABLE 3—8E MlMONTH LY Payroll Parlod
(&) SINGLE person [Encllsd']rpg head of holtsehold) - {b} MARRIED pesson |
If the amaunt of wages (aft . If the Zmount of wa dgles (&fter
aubimcting withholding alk:mmcw] The amount of income tax sub(ma:!lnq withhal i The awopunt of income
1w withhold ig: | allowancesy is: fax to withhold ie:
Nntuu:‘r$252 o S YT T AT Ty T QP T o . Nolover $673 ... v . 50
Ovar But red o\mr - of exceas over « | Over «— But nod ovm ver OF BRI AN
$262 - B34 L 0% ~ G252 | $673 - ,\‘31 Rl q] 0% -~ $673
—Psiad §1E02 . $18.20 plus 16% —5434 | $1.020 ~B3NE6 | $44.80 plug 15% — 51,021
$1.602 o §EE2 L. $176.40 plus 26% w $1,502 | $3,156 }33‘010 368,05 plus 28% - $3, 166
$2.821 ~ 83510 . $50B.16 plus 27% - $2.821 i $3.01% —~§56,180 . . $EBE.B0 plus 2T ~ §$3.919
3,518 — §3.6564 . 580661 plus 30"{. —$3,619 | $5.169 —~ 56,044 $HHA.H0 plus 26% - $5,169
3,664 - \ L B73741 plus 28% - 83,604 | 56,044 - 3,042 1206 phis 28% 88,0449
$7 246 . $1.742.87 plus 33% -~ $7,248 | 4,042 — klﬁ 92 F1.04 1 A plug 334, -~ $0,042
$15,654 SM 517 51 plus 35% - 664 | $1a 892 | $4,211 99 plug 35% ‘615 802

TABLE 4~ MONTHLY Payrol! Period

(&) BINGLE pergon [inclucing bead of household) -

I hve amount of wu‘élea (alrar
sublraoling withholdigg aluwincs)
i8:

The amount of incarma tax

| (o) MARRIED pergon ~|

11 fhe amount of we éqas {ixfler
subiracting withhol irig |

Thir amount of income:

to withhold is! allowances) is! ! tare 1o withheld is:
Not over $604 .50 NMovmﬁiLMB,.u,.[,..,.... 50
Qver — But not over — of excess over — | Over— By not over —
3504 — B868 ., 10% - ﬁm 51,140 ~&2,042 ., 0%

HEY e FRO0F L B06.60 plus 16% e SHEL 2,042 G319 L 650,60 pls 15%
§3.004 - §5,64 L5015 plus 26% — 3,004 G013 — &7 538 - $730.25 plus 25%
$5,642 — §70a0 51,018.25 plus 27% - Bh B42 &7 Ha0 - 510338 . . §1.111.50 plus 27%
by gvatiy - §7,808 S1LU831T plus 30% 7,058 §10.308 $12.088 . W1L78E6.60 plus 25%
$7 308 - &4 402 $1,474.47 plus 26% 7308 12,088 3 CoBR224 00 plug 2B,

14,492 —Bd1.308 3,485,680 plua 33% ~Bi4.492 $18.083 o 83,8026 plus 93%
$ !I £201: I ' 5 5% 31,308 §51.78% L BEA2E 60 plus D5
FIGURE B

IRS Tables for Percentage Methad of Withholding

HOW TO

method taldes

Fipel faderal tax wﬁhhcﬂdiin.ig pey paycheck gsing the RS percentage

1. 8elect the appropriate table in Figare 5 according to thc. eryployee™s filing status and the type of

pay period,

2. Find the incame row: In the colunms labeled 17 ihc: amount of wages (after subracting

wilhholding aowancees) is:”

setect the “Over—" ind “Bul net over—

" inderval that includes

the employee’s percentige method income for the piy period.
proyee’s ¢ 4 d

3. Find the cell where the income tow 1nd the column labeled "ol excess over—-"

intersect, and

sublract the amount given in this cell from the employee’s percentage method incame for the

pay perid,




